
Lösningsförslag till dugga 2, 20131121

Lösningsförslag till dugga 2 a

1. (a) ja

(b) nej (
∫ ∞

0

x dx

x2 + 1
= lim

b→∞

1

2

(
ln(b2 + 1)− ln(02 + 1)

)
= ∞.)

(c) ja

(d) nej

2. (a)
∫

x cosx dx = x sinx+ cosx+ C .

(b)
∫ 1

0

x√
9− x2

dx =
[
−
√

9− x2
]1
0
= 3− 2

√
2 .

3. ∫ 3

0

x+ 2√
x+ 1

dx =

∫ 3

0

(
x+ 1√
x+ 1

+
1√
x+ 1

)
dx =

=

∫ 3

0

(√
x+ 1 +

1√
x+ 1

)
dx =

=

[
2

3
(x+ 1)3/2 + 2 (x+ 1)1/2

]3
0

=
20

3

Lösningsförslag till dugga 2 b

1. (a) nej

(b) ja (Jämförelsekriterium: 0 ≤ x

x3 + 1
≤ x

x3 + 0
=

1
x2 och

∫ ∞

1

1

x2
dx

konvergent.)

(c) nej

(d) nej

2. (a)
∫

x sinx dx = sinx− x cosx+ C,

(b)
∫ 3

0

x√
9 + x2

dx =
[√

9 + x2
]1
0
= 3

√
2− 3 .

3. ∫ 2

−1

x+ 1√
x+ 2

dx =

∫ 2

−1

(
x+ 2√
x+ 2

− 1√
x+ 2

)
dx =

=

∫ 2

−1

(√
x+ 2− 1√

x+ 2

)
dx =

=

[
2

3
(x+ 2)3/2 − 2 (x+ 2)1/2

]2
−1

=
8

3

1


